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M .Sc. (Two Year Course)-Human Genomics/A

Change in phenotype of biosphere brought about by natural selection is good example of ;

(A} Greenhouse effect (B) Industrial melanism

{C) Phenocopy (D) Symbiosis

The frequency of chromosame hased syndromes in children is known to increase sharply
with :

{A) Increaseinageof mother past 35 years (B) Increascinage of father past 35 years
(C) Increase inageof sihs (D) Increase inageof relatives

Whao is the father of genetics ?

(A) GG Mendel @) 1.P.Morgan

(C) G J.Mendel (D) Hugode Vries

Meselson and Stahl demonstrated that:

(A} One gene codes for one enzyme (B Cenetic material of bacteriophage is DNA

(C) Genetic information of TMV is stored in RNA (1)) Dﬂﬁmp]:i:aﬁmiﬁgcnmmﬂiw
If two or more events are independent, the chance that they will oecur togetheris

(A) The sum oftheir separate probabilities (B) The product of their separaic probabilities
(C) Negligible @) 0.5

Recessive gencs are difficult to follow generations after generations because they :
(A) Reémain hidden by their dominant aileles (B) Arerare

{C) Germutated (D) Armexpressionless

In & typical mammalian cell eycle with 24 hours generation time, mitosis completes in :
(A) 4hrs {B) 9hrs

(C) lhr (D) 10hrs

Defective HPRT canses :

(A) Renaldysplasia (B) LeschNyhan Syndrome

(C) Angelman’s Syndrome (D) Down Syndrome

Who gave the survival of the fittest theory 7

(A) Lamarck - - {B) Dawson

(C) Darwin D) Asisiotle
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10, The earth’s inner most core is :
(A) Solid
(C) Gaseaus
11. X-rays can be characterized by :
(A} Shortwavelength, high frequency
{C) 10° wavelength
12. First science city in Indis was built in :
(A) Fune
{C) New Delhi
13. Red Ribbon Express is related to :
(A) Awarenessof Red Cross Society
(€} Awareness about HIV/AIDS
14. MDR has developed due to :
(A) Indiscriminate use of drugs
(C) Partial course of prescribed drug
15. Titan is associated with :
(A) Jupiter
(C) Uranus
16. Thewavelength of visible light falls between :
(A} 280-700 nm
(C) 450-800 nm
17. Ome light year is a measure of :
(A) Time
(C) Velocity
18. Oursolar system was created :
(A) 13.7 hillion yrs ago
(C) 4.5billion yrsago
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Quorum sensing is helpfulin

(A) Energy calculation (B} Comelation of population (microbial ) density
(C) Mesasuring radiations (D) Identification of 1sotopes

Ratio between resolving power of eye to resolving power of microscope is referred to as :
(A) Focussing (B) Maghification

(C) Refraction (D) Diffraction

A normal human body has a temperature of :

(A) 98.6°C @y 37°C

() 32°C Dy 992°C

A homozypous Rh-positive man married a homozygous Rh-negative woman. Their first child
was normal, what would be the prediction for future child’ phenotype :

(A) Normal (B) Haemolytic anaemia

(C) Could be(Ador (B) (D) Fetal abortion

The closest distance at which a human naked eye can focus is :

[A) 35cm (B 25cm

(C) 35mm () 25mm

Choose the odd one out :

(A) Micro computer B) Mini computer

(C) Supercomputer (D) Digital computer

The computer that is not considered as a portable computer is :

(A} Laptop computer (B) Notebook computer

(C) Minicomputer (D) Tablet

The unit that performs the arithmetical and logical operations an the stored numbers is known
a____

(A) Arithmetic Logic Linit (B} Control Unit

(C) Memory Unit (D) Both(A)and(B)

The . is the ‘administrative’ section of the computer system.
{A) TnputUnit (B) Output Unit

{C) Memory Unit {D} Central Processing Unit
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The number system on which the modern compuiers operate :

(A) Decimal number system (B) Octal number system

(C) Binary number system (D) Hexadecimal number system
The complement of the binary number 11001011 is:

(A} 10101010 (B) 00110100

(C) 00110101 (@) 00101100

If spermatogenesis is normal and all cells survive, how many sperm will result from 50
spermatids ?

(A) SO ®) 100
(C) 200 (D) 250

A man produces following kinds of sperm in equal proportions: AB, Ab, aB & ab. What is his
genotype with reference to the genes specified ?

(A) AAbb (B) aaBB
(C) AsBhb (D) Aabb

How many sex chromatin hodies are cxpected to occur in cell nuclei with XXY chromo-
somes arrangement 7

(A) Zero (B) Onec

(C) Two (D) Three

Eukaryotic chromosomes are metabolically most active during :

(A) Metaphase (B) Anaphase

(C) Telophase (D) Interphase
Mutations that produce chain termination triplets within genes are known as:
(A) Missense (B} Nonsense

(C) Sense (D} Deletion

Which among the following is odd one out: UAA,UAG UGA & UGG?
(A} UAA (B) UAG

(C) UGA Dy UGG

Nuclear sizes are expressed in o unit named :

(A) Fermi (B) Angstrom

(C) Newton (D) Tesla

M.Sc. (Two Year CoursepHuman Genomics/BGI-J1184-A [
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‘Sound travels at the fastest speed in :

(A} Stecl (B) Water

© Ar ) Vaomm

The “NuSTAR" is a space hased X-ray telescope designed by NASA to study :
{A) Comets (B) Black Holes

(C) Asteroids (D) DwarfPlanets

Which is the largest part of the human brain ?

(A) Cerchrum (B) Cerebellum

(C) Hypothallamus () Both{A)&(B)

Sun's energy is produced by :

(A) Nuclear fission (B) Nuclear fusion

(C) Conversion of Helium 1o Carbon (DY) Breaking of hydrogen bonds
Haemophilin, a human discase is cansed by :

(A) Bacterial nfection (B) Fungal Infection

(C) Mutant gene (D) Viral Infection

The discase Sickle cell anaemia, is cauvsed by :

(A) Irondeficiency (B) MalanaInfection

{C) Poorhygiense (I} Mutation in gene

Test cross involves :

(A) Crossing between two genotypes with dominant trait

(B} Crossing between two genotypes with recessive trait

(C) Crossing betwesn two F1 hybrids

(D) Crossing the F1 hybrid with a double recessive genotype

Genetic variation can be introduced into bacteria by all of the following method exeept :
(A) Transduction (B} Mutatkon

(C) Transformation (D) DNAamplification

Actinomyein D is a inhibitor of :

{A) Replication (B) ' Transcriptiom

(C) Translation (13 Transformation
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Which mutation is caused by Acridine Orange ?

(A) Missense mutation (B) Nonsense mutation
(€} Duplication (D) Frameshift mustation
(rlobal Warming is mainly due to :

(A) Lessofmin (B) Absorption of IR by ozone
(C) Industrial revolution (13} Lessof forest
Identify the point mutation in DNA: Aw G :

{A) Transition (B) Transversion .

(C) Frameshift (D) Nonsense
Caenorhabditis elegans is a :

(A) Py (B) Racteria

(C) Worm (D) Fratfly

Which one of the following belong to amphibian class ?

(A) Scerevisige (B) Celegans

(C) Xlaevis (D) E.coli

A nueleoside is compaosed of ;-

(A) base+asugar (B) base+asugar + phosphate
(C) base + a phosphate (D) 2 base +sugar

The two strands in 8 DNA double strand is joined by :

(A) Co-valent bond (B) Hydrogen bond

(C) lonic bond (D) Phosphodiester bond
The basic repeating units of a DNA molecule is :

{A} Nucleoside (B} Nucleotide

(C) Histones (D) Amino scids

Freon is chemically referred as :

(A) Methyl chloride (B) Chiorofluoro carbon
(C) Tetrabromobenzene (D) Chloroform
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A short length of DNA molecule has 80 thymine and 80 guanine bases. The total number of
nucleotide in the DNA fragment is :

(A) 160 (B) 40

(C) 320 (I3} 640

The primary structure of a protein is primarily maintained by :

(A} Peptide bond (B) Hyvdrogen bond

{C) lomebond (D} Hydrophobic imteractions

RNA molecules differ from DNA molecules in all but which onc of the following respects ?
(A) Kindof pyramidines (B} Kind of punnes

(C) Typeofsugar (10} Number of strands per molecule
Solution with pH =15 is than a solution with pH =7,

{A) 2times more basic (B) 10 times more basic

{C) 10 times more acidic (D) 100 times more acidic

Steren chemical eonfiguration of all a—amino acids derived from proteins is :

(A) L (B) D

(C} Land D (D) Z

DNA replication takes place in which direction 7

(A) 3105 (B) 53’

(C) Randomly (D) Vary from organism to organism
Mouaolecules in which the atoms are held together by honds have the strongest
chemical linkages.

{A) Non-covalent (B) Covalent

(C) lonic (13} Hydrogen

Female gametophyte of angiosperm s :

(A) Teelled (B) Scelled

(C) 11celled (D} Scelled

Which of the following helps in acscent of sap 7

(A) Root pressure (B) Trnspiration

(C) Capillanty () Al ofthese
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Bryophytes do not possess :

(A) Vasculartissue (B) Gametophyte

(C) Alternation of generation (D) Spores

The plants which can withstand narrow range of temperature tolerance are called :
(A) Stenothermal B) Euyhenmal

(C) Mesothermal (D) Monothermal

Biological oxygen demand is 8 measure of :

(A) Industrial wastes poured into water bodies

(H) Extent o which water is polluted with organic compound

(C) Amount of carbon monoxide inseparably combined with haemogiobin
(D) Amount of oxygen needed by green plants during night

Haemocoel is found in :
(A) Hydraand Aurclia (B) Tacniaand Ascans
(C) Cockroachand Pila (D) Herdmania and Balanoglossus

Which one of following is a correct matching pair ?
(A) Lubb-sharp closure of AV valves at the beginning of ventricular systole

(B) Dub- sudden opening of semilunar valves at the beginning of ventricular diastole
{C) Pulsation of radial artery valves in the blood vessels

(D) Purkinje fibers- initiation of heart beat

The end product of ornithine cyvele s

{A) Urea {(B) Uricacid

(C) NH, @) Co,

A person is wearing spectacles with concave lenses for correcting vision. While not using
the glasses, the image of a distant ebject in his case will be formed :

{A) Onthe blind spot (B) Behind the retina
(C) In frontof retina (D) On vellow spot
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71. Which of the following statement regarding glucagon is false 7

(A) Itis secreted by alpha cells of langerhans
(B) lractsantagonistically to insulin
(C) ltdecreases blood sugar level

(D) The gland responsible fior its secretion is heteroerine gland

72. Montreal Protocol is associated with :

(A)  Glohal warming (B)  Industrial pollution
(€) Tiger conservation (D) Conservation of fossil fuel
73, Study of interaction of clectromagnetic radiation with matteris ;
(A) TEM (B) Electrophoresis
(C) Spectroscopy (13} Endoscopy
74. Antibiotics help in killing :
(A) Viral infection (B) Fungal infection
(C) Bacterial infection (D) Algal infection
75. Vienna Convention deals with :
(A} Ozone laver depletion (B) Nomenclature for refrigerants
(€) Nomenclanwe Fnzymes (1) Mumation detection
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